Practice Test
Linear Inequalities

2 2157 :
The sum of 120k and 215 does not exceed Which of the following inequalities is equivalent

2.500. to 0.6(k—7)—0.3k > 1.8+ 0.9k ?

Which of the following inequalities represents

the statement above? A) k<10
B) k<-10

A) 120k +215j < 2,500 C) k=10

B) 120k+215j = 2.500 D) k=-10

C) 120k+2157<2.500

D) 120k+215j = 2.500

dm—-3=2(m+1)or Tm+23<15+9m

Which of the following numbers is a solution

to the compound inequality above?
One half of a number decreased by 3 is
at most -5, A) 2
B) 3

Which of the following inequalities represents

the statement above? €4
D)5
1
A) —n-3<-5
1
B) 3-—n<-5

1
C) —n-3<-5

1
D) 3-n<-5

Which of the following numbers is NOT

. . .. 3b+5 i F ine i ities renresents
a solution to the inequality >bh_g9 Which of the following inequalities represents the

-2 graph above?
A) 0 A) 4y-3x>12
B) 1 B) 4y-3x<12
2 C) 3y—4xr>12

D) 3
D) 3y—4x<12




section A

A system of inequalities and a graph are shown
above. Which section or sections of the graph
could represent all of the solutions to the system?

A) Section A
B) Section B
C) Section C
D) Section D

If the system of inequalities 3=z x and —-1=y
is graphed in the xy- plane above, which quadrant
contains no solutions to the system?

A) Quadrant II
B) Quadrant IIT
C) Quadrant TV

D) All four quadrants contain solutions.

[y<ax+1
1y >bx—1

In the xy-plane, if (1.0) is a solution to the

system of inequalities above, which of the
following must be true?

L a>-1
II. a+b=0

. b<1

A) Tonly

B) IandII only
C) Tand III only
D) I II. and IIT

[»=12x+600
<
[y=-6x+330

In the xy-plane. if (x.y) lies in the solufion set

of the system of inequalities above, what is the
minimum possible value of y ?

If —6 <3 —2x <9, what is the greatest possible
value of x—-17

For what integer value of x is 4x—-2>
3x+5<247

17 and



Answers
Linear Inequalities

Chapter 4 Practice Test
1. C
120k + 2155 s 2,500
Theemof | deesmotescesd 2300
120k and 215
2. A
iI’t -3 <= =5
.;4 decrea_s:d by3 is at most ‘:VS_
one half of
a munber
3. D
3b+5
2 op-s3
-2
3b+5
~2722)<-2(b-8)  Multiply each side by -2
B and change = to <.
3b+5<-2b+16 Simplify.
3b+5+2b=<-2b+16+2b Add 2b to each side.
5h+5<16 Simplify.
5h+5-5<16-5 Subtract 5.
5h<11 Simplify.
5b 11
% << Divide each side by 5.
11
b< < Simplify.
So. 3 is not a solution to the inequality.
4. B
0.6(k—7)—0.3k >1.8+0.9k
= 0.6k—42-0.3k >1.8+0.9k
03k-42>18+0.9k

=
= 03k—-42-09k>18+09—-009k
= —06k-42>18 = —0.6k=>6

0.6k 6
——<—— = k<-10
-06 0.6

U



A

dm—-3<2(m+1l)or Tm+25<15+9m

dm—-3=2m+2 or -2m+25<15
2m=35 or —2m < —-10

5
m=— or m=5

2

Thus, among the answer choices, 2 is the only
solution to the compound inequality.

A

Slope m of the boundary line is

3-0 3 . .
=—. The y-inferceptis 3. So, the

m=—-—
0-(—4) 4

. - L 3
slope-intercept form of the line is y = " x+3.

The standard form of the line is 4y —3x=12.

Select a point in the shaded region and test
each inequality.
Let’s use (0.4). as a test point.

A) 4y-3x>12

4(4)-3(0) > 12
1612

x=0y=4
true

Since the half-plane containing (0.4) is shaded.

the test point (0.4) should give a true statement.

Answer choice A is correct.
Choices C and D are incorrect because the
equations of the boundary lines are not correct.

A

Let’s check (3.0) . which is in section A.
2(00-3(3)<6 x=3,y=0 1strue.
0>1-3 x=3,y=0 15 true.

Since x=3 and y =0 are true for both

inequalities, section A represents all of the
solutions to the system.

D

To determine which quadrant does not contain
any solution to the system of inequalities, graph
the inequalities.

Answers
Linear Inequalities

10.

11.

The solution to the system of inequalities is the
shaded region shown in the graph above. Its
solutions include points in all four quadrants.
D is correct answer.

C

v<ax+1l and y>bx-1

Since (1.0) is a solution to the system of
inequalities, substitute x=1 and y =0 in the
given inequalities.

D<a(l)+1 and 0>b(1)-1 =x=1.y=0
-l1<a and 1=>b Simplify.
Statements I and III are true. But we do not
know the exact value of a or b. so statement IT
is not true.

420
v=12x+600 First inequality
V= —6x+330 Second mequality

Multiply each side of the second inequality
by 2 and then add it to the first inequality.

2y 2 -12x+ 660

+ y=212x+600

2nd mequality multiplied by2.
Furst inequality

3y =1260 Sum of two inequalities
; >
3;1 = @ Divide each side by 3.
3 3
y=2420 Simplify.

Therefore. the minimum possible value of v
is 420.

% or 3.5

—-6=3-2x<9

—6-3£3-2x-3=9-3 Subtract 3 from each side.
—9<-2x<06 Sumplify.

Divide each side by -2

and change < to =.

Simplify.
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%—13:(—12—3—1

Subtract 1 from each side.

—2x-12-4 Simplify.

The greatest possible value of x—1 is T

12.50r6

4x—-2>17 and 3Ix+5<24
4x>19 and 3x <19

19 19
X>— and X<—
4 3

. . 19 19
Since x is between T(= 4.75) and ?(k 6.33),

the integer value of x is 5 or 6.



